Model exam(l)

Answer Five Questions ONLY from the following :
 Question 1 
(A)
Choose the correct answer from those below each sentence
1-Addition of Sod. hydroxide to a solution of Aluminum chlorid, give
a) White ppt.       B) White ppt. dissolve in. Sod. hydroxide
c) Red ppt.
 D) blue ppt.

2-
The magnetic quantum number defines


a) the type of electron movement around its axis.
b) the number of electrons in the sublevel.
c) the number of the sublevels in the principal level.
d) the number of orbitals in the sublevel.
3-
Sodium metal is extracted in the industry by electrolysis of


a) caustic soda solution.     B) molten sodium chloride.

c) molten sodium oxide.     D) sodium chloride solution.

4-reaction between ethane and Potassium permanganate in alkaline medium

a) Wurtz reaction .
b) haloform reaction.
c} Baeyer's reaction.
d) Fridel Crafts reaction.
5-
The bonds in methane molecule are formed by the overlap of the
orbitals


a) s with sp3 .
b) s with sp2.
c) s With sp.
d) sp with sp.
 (B)
Show by symbolic equations and state the conditions of the following
reactions :

1-Effect of sodium metal on Ethanol

2- Effect of heat on Iron(II) oxalate.
3- Effect of heat on iron (II) sulphate
 Questions 2 :
(A) Write the scientific term for each of the following statements:

1-The minimum amount of energy that must be gained by a molecule to

react at collision.
2-The tendency of an atom to attract the electrons of the

chemical bond to itself

3-Alkyn react with water in the presence of catalyst.

4-The process of treating fine iron ore to obtain large particles suitable for the reduction process.

 (C)
How  can  you  obtain  sodium  phenoxid  from  Benzen     Write  the
representative sysmbolic equations

Question 3 :
(A)
Give reasons for each or the following :

1- Chromium is a chemically reactive metal, but it resists the effect of rusting and corrosion.
3-Thermal decomposition of copper (II) nitrate is a complete reaction . 4- Potassium super oxide is used to purify the atmosphere of submarines.
(B)
Complete the following statements :

1 - By electrolysis of molten sodium hydride, , hydrogen gas is evolved at
the


2-
The strength of metallic bond increases as the number of valency
electrons of the metal atoms


3-
The orbitals of the same sublevel are
In their energies.
(C)
Mention one use for each of the following :

1- Ferromanganese alloy   2- uses of washing soda

 Questions 4:
(A) Write the structural formula of each of the following :
2- Catecol

3-
Acetylene.
4- Cyclo-hexane
(B)
Rewrite the following statements after correcting the underlined words:

1- Reaction of Ethyl benzoate with ammonia gives aniline 3-The oxidation number of oxygen in hydrogen peroxide is + Vi.
4-
Addition of sodium hydroxide solution to iron (II) sulphate solution gives

a chocolate brown precipitate.

(C)
Show by symbolic equations how can you obtain each of the following,
state the reaction conditions:

1- Phenol from calcium carbide      2- Iron (III) oxide from siderite.

3- toluene from benzene.
4- Reduction mixture used in Midrex furnace from natural gas.
Question 5 :
(A)
Put the sign (V ) in front of the right sentences and the sign (x) in front
of the wrong sentences of the following :

1-
The Second ionization potential of sodium is greater than that of
potassium

2- All bonds in the hydronium ion are ionic bonds.
3- The scientist Sommerfield pointed out to the existence of the principal energy levels of the atom.
B Using the following :
quick lime- ethyl alcohol- calcium carbide - slaked lime - caustic soda -

ammonium chloride - iodine solution - copper sulphate solution.

How can you prepare the following compounds, write the symbolic reaction

equations and state the conditions of each reaction:

1- Ammonia gas.       2- acetic acid

3- acetylene gas and draw the apparatus used for laboratory preparation.

Question 6 :
(A)
What is meant by each of the following :

1- - Condensation polymerization:-
2- Subsidiary quantum number.
3- coordinate bond.
4- catalytic hydration of alkynes.
(B)
How many moles are there in :
(a) 3.01 X 1023 ions of sodium chloride.
(b) 6.02 X 1023 molecules of carbon dioxide.
(c) 64 gm of oxygen molecule (O) = 16
(d) 27.8 gm of lead II chloride (Pb) = 207, (Cl)=32.5)
(C)
In the following equilibrium reaction:
N2(g)+02(g)
► 2NO(g) -Energy.
What are the effects of heat, pressure and concentrations of the reactants on the quantity of nitric oxide produced.

